[ Efficiency vs vertpos |
~ 0.7
£0.09
g
20.08
(8]
§0.07
QL
£0.06
0.05,
0.04
0.03
0.02

0.0

+ EH % = R R

1H

1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom

Effici —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
iclend _, DQM_pixelCPETemplateCutChiSquareNew7_step2_ttbar-phasel-newgeom

N 0.2
R et KA S S
[ C . . . . .
U S L
8 _ . . . . .
$0.14F
(&) L
£0.12F
[J]

0.1
0.08F
0.06F
0.04F
0.02F

TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
>
0.0.18f¢
= o
#0.16
£0.14F
oy o
c0.12F
0.15
0.08F
0.06F
0.04F
0.02F

O_

e

effic

Ratio

L5 eebee ik

Sim. PV z (cm)



	Contents
	Page 1


